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6 |/ $ / $# # 0,260 17,0
/.39 %
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6.1 61 $ 1 % # "o
- 1 $ #

85




1 ¢ # "
" ) # ’ # # =( L 2
%& X, =1,.. y # ( nw #

1 " # $ " " n
" # ¢ s
nw - ’ - $
1 - .
: % %&
& # .
* Sg) | . o
X, S ) .
(LB (/A W (A- T # 3
1 ) B " L %&
i o X= (X, X, X)L $ " "
i ! q! " - 7 -
- 28 ( . $ ), # " % L] n
) [ "% - "
- 1 n # -
P ___
Y
+ & - y = i=1
p
<<
) # | #H #
1 11 12
2
Q yql yq2 qu
rl r2 r3
1-+ & % % L n
— 5 _
0! Ra :z Z;(Yij -Y) %
e
&

86

28



5
2. Roseo =qZ(yrj -y — # -
=1
" &
& .
p 4 J—
3. Rio :z;(yij _yri)2 — ( %-
=1 i=
- g : , $ -
#T+ & 4 - "
$# #
3 # :
R =Ry +R
1 " # "
" % R R , R . "o R .—R
a<<é® & 268 *3"20& ("(O" +&/ (""(OC " # 3
1 - " " " , %&
. (12 D) -
, " 7 & "
e (1 2 ) " &
# - 6 i=1p & "% $
17 Ry R 3
Roaéo. "
¢ = <
1 " - % C
2
Flaae = Ségéb. 1# Soaeo = R5éé5- ’ S?u‘). = Rino.
She. 0-1 p(q-1)
% %
> (C - 101 $ 2 " -
F .
- F >F . #
# %
» 1.
1 " 5=0,05 $ -
%
29
$ 1-5 . 6-10 . 11
1 20 22 24
2 21 23 25
3 22 24 26
21 23 25

87



y -

$,

P=g=3 06=23
r === 3+ 241544 1%+ 1%+ 1%+ 2%+ 3=4+8+18=12+18=30.
ry .=3(22+22)=24r .=30— 24=6.
Shseo :%:121 Sto Zizl-
2 32
F :1—12,F (0,05:2:6)=5,14 (" 101 $ 2
F >F ., 7 #
#% .37 " , -
"t stH#S O( (B (-7 1( 4
1.1 C " " - #
- & % " .9 - 7
I#) -
30
% o ( 3)
# ) 31 32 33 34 35
1 1.2 0.6 0.9 1.7 1.0
2 1.1 1.1 0.6 1.4 1.4
3 1.0 0.8 1.3 1.3 1.1
4 1.3 0.7 1.0 1.5 0.9
5 1.1 0.7 1.0 1.2 1.2
6 0.8 0.9 1.0 1.3 15
# 6.5 4.8 5.4 8.4 7.1
2./ " a=0.05 "
# $ /" "
- $ , - n , _
- 10 - & " ().
g .
31
2 / -
- 1] 2] 3] 4| 5] 6| 7] 8] 9] 1c
1 06| 02| 04 05 08 02 01 o6 08 0.8
2 02| 02| 04 03 03 06 08 02 05 05
3 08| 06/ 020 04 09 10 08 02 04 0.8
4 07| 0.7] 03 03 02 08 06 04 02 06
3.1 - 61 $ 1
& # -

88



EXCEL

1 & " $ " " "
1 # " Excel.
* Excel " $ "
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2| 3.2 26 23 37 3 32126129 37 3
3 3,1 3,1 26 3,4 34 31| 31| 26| 34| 34
4 3.1 2.7 3 3.2 3.2 31| 2,7 3 32| 3,2
g 20 24 3.1 33 35
B i o L 28| 29| 31| 33385
7] 3 23 23 33 3,1 3,3 | 2,7 3 35| 29
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: " # . =0,05 ( ) — 5%- ]
C
LI X
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I pynns! Cyem Cynma Cpednee | flucnepcusn
Al G 18,5 3,08333333 0,02966667
A2 6 16,8 2.8 0,032
A3 6 17.4 2,0 0,032
Ad G 204 34 0,032
A5 6 19,1 3,18333333 0,05366667
JUCNepCHOHHBLIR aHANK3
Homouhuy eapuaunl 55§ af s F P-IHavenie F XpuimuqecKoe
Me:xay rpynnamu 1,342 4 0,3355 935408922 9,16424E-05 2758710593
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1 3135 — , 1115 — "
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R nnoTHoCTH pacnpl ﬂistngramsrj\
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@IH MERErEHHEIN u:nl s@uc&a [MparoyroneHaA h| Summary |
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— # :
9 %, " «9 - " $ "-
«9 # - "y " % «3 ">, «ANOVA»
(Analysis of variance).

' SPSS
1 " - Lt $ & % -
# SPSS.

ONUCAMEIbHBLI AHAIU3 - % & %
3 n + - - 1
, )

R TR - D -

Bestmannomi - Pegakmop gannmx SP55 &1
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4 Qa0 NarnuHeHAHEE (3
5 9.00 F.naccugukauLn 3
5 ¥ MEHBLIEHUE [laHHEx 3
7 M acwmabupoBaHUE 3
A Henapariempuyeckue mecmil 3
Cepun BpeteHu 3
2 BeikusaHus 3
10 MHosecmeeHHeE Omeem 3
11 Y MEPAHHEIE SHAYEHUA AHANUZA...
12
13
14
15
16
17
1%
19
20 |
21
22
23
24
25
2
27
28
29
i
3l -
lel\l'lanenb A Bug nepemenrol 7 <] | LlJ
|SPSS Processor is ready [ [

#nycx || £3 @ B [ 25 || WISTATISTICA 20 - Micso...|[Efessmsmmi - Pega. EORD-fEadn 1649
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Fain  PegakmuposaHue

Mpacriomp  OaHHele  TpaHCPopManus  AHanus

Mpager Ymuaumel  OkHo  Ci

2[0S B ol 5 x|k af Elr| EsE wel
— D o |
| — E—
1 © Craena | Pl Cramicria... | roagws..| Nepaer
Zlf[l\n aaaaa ganHI A Bugnepemernon /. F— \lsl:alady I : | : _»lll
e ||| 23 @ D () 3 || FsTATISTICA 25 - Mimaso
P %& " :
Descriptive Statistics
N Minimum Maximum Mean Std. Deviation
VARO0001 5 1,00 9,00/ 5,8000 3,63318
Valid N (listwise) 5
Explore
Descriptives
Statistic | Std. Error Mean
VAROOOO1 Mean 5,8000 1,62481
95% Confidence Lower Bound  1,2888
Interval for Mean  Upper Bound| 10,3112
5% Trimmed Mean 5,8889
Median 7,0000
Variance 13,200
Std. Deviation 3,63318
Minimum 1,00
Maximum 9,00
Range 8,00
Interquartile Range 7,0000
Skewness -,567 913
Kurtosis -2,231 2,000
Mean —
Median —
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Std.deviation —

Variance —

Range — "

Std.error mean — C #
Skewness — 7

Kurtosis — 7 7 .

) 7 SPSS

.9 " "% : 1 (varl)

2(var2)9 7 # ° 3 v 4

7 7

b eabiMAHNLIA - Pegakmop gannbix 5P55 =S

Paitn  PegakmupoeaHue Mpoctomp  OadHele  TpaHceoprauus  Aanuzs  Tpagel  Ymuaumsl Okeo  Chpaeka
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at)000] | var00002 it | Tt | at | it | at | Tt | rat | Tt rat Tt rat Tt rar Tar ar
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Z00) 1600

4,00 12,00 MepeteHHsle: ’TI

7,00 18,00 Beraska

9,00 23,00
Cépoc

3,00 10,00
DTMEHal

e e =N S

4,00 15,00
Morow,

10 Carrelation Coefficient

11 ’VF Pearson [ Kendallstaub ¥ Speaman

TecT BamHOCTH ‘

’V * [eyreocTsii " DgHoxeocThif

_— . TapametpeL.
¥ Flag significant comelations LI

31
Ilzl\ﬂanenb QaHHbIX ,( Bug nepemeHHoH / || hl |

\SF’SS Processor is ready | | ‘

iﬂl’lucx H I“_:;! e E t@ |J nocn Bap - Microsoft \Waord IBesuMg""un - Pega... ﬁﬂutpun - SPSS Mpocom. |

)" " # " " %&
Correlations
VARO00001 VARO00002
VARO0O001 Pearson 1 , 758
Correlation
Sig. (2-tailed) : ,049
N 7 7
VAR00002 Pearson 758 1
Correlation
Sig. (2-tailed) ,049 :
N 7 7
* Correlation is significant at the 0.05 level @ked).
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Nonparametric Correlations
Correlations
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VAR00002
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| # = +bx, — 7 7 -
b— 7 var 1. "
# =2X.
Coefficients
Unstandardized | Standardized
Coefficients Coefficients t Sig.
Model B Std. Error Beta

1

(Constant)
VAR00001

,000
2,000

,000
,000

1,000

2

(Constant)

8,571

2,12

4,033

,007

a. Dependent Variable: VAR00002

9 &

%

ANOVA. 1

7

ANOVA: 3
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ANOVA

VARO00001
Sumof df Mean F Sig.
Squares Square
Between 987,500 2 493,750 3,177 ,090
Groups
Within  1398,750 9 155,417
Groups
Total 2386,250 11
I F = " F- : Sig— #
.- 7 : %,
% # "o : "C,
"T$HE O( (B (-7 1( 4
1.1 " "2 "3 "
" 1985-1990, 1991-1999) :
# #( .+ — :
7 " :
2.1 C "
51 $ 1.
3.1 " 71 $ 1 —
&
- 4 C
4.1 C "
81 $ 1
5.1 : : " 91 1, "
S G S 1
%
6.1 C : ",
101 $ 1
7. : ", " 111 $
— $ $ $ &
)
8.+ "

(1975, 1980, 1985, 1990, 1995, 2000)
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